Subtracting Positive & Negative Numbers 8.3 PRACTICE
AlgebralLab - Seely

Take as often as you like.

1) Find the opposite of -11
10pts

2) Simplify: y—4a+5+4+2y—6a
10pts

3) Add:
10pts
—2-(-2)=

4) Add:
10pts

5) Add:
10pts

7) Add, using the rule for order of operations if necessary:

10pts
—8-T4(-7)=

8) Completely simplify the expression
10pts
2z42z+48x

Answer =

9) Completely simplify the expression
10pts
dr48x+4x

Answer =

10) Completely simplify the expression
10pts
8xr—6—2z49

Answer =

Name




Key - Form 1
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